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- Scientific calculator is Allowed

Tlme Allowcd 03 Hours : :
NOTE: S 2
1) Parts A and B are compulsory ,
2) Part-C has Two Questions Q8 and Q9. Both are compulsory, but with mternal choice . .
3) Any mlssmg data may be assumed appropr lately 3

:g Part- A | | © [Marks: 02each] s

Ql (a) :What do you mean by the concept of demand and supply?
- (b) Define. break even analysis.
(c) Drffer entiate between GDP and GNP. - '
(d) ‘Fstlmate the quantities of brickwork and plastering xequucd in‘a wall 4m long,, 3m ,
high and 30cm thick. ;
-(e) What is meant by depx eciation cost? How is it estimated?
(D Wrrte a brlef note on bid process management.

1 .. Part-B ; ‘ {Marks 04 cach]

Q2 Y‘Fmd the rate of plam cement concrete (1:2: 4) per cu. m by rate analysrs Assume
suitable rates of materlal and labour. P
Q3 Calculate the cost of carriage of 50; OOO bricks by bullock carts, from a distance of 7km '
1 on kutcha road The cart can make two trips pe1 day and can carry 250 bricks per trlp f
¢« The wages of bullock cart may be as Rs 1200/ per day including driver, .
Q4 . Write i in brref the general specifications of a ﬁrst class burldmg
Q5 Publish a tender for construction of hostel in your college campus.
Q6 Enhst and explam several ways in which a contract can be terminated. : B
Q7 . Prepare bar bendmg schcdule for a square column with an 1solated footing from the
~ following ddta: | REEEE
~ Size of column 500 1 mm x 500 mm Depth below G L = lm
- Plinth level = 40 cm below G.L. : Height of column = 4.0m
.- Column Remforcement . ~ o
'Long1tudnal bars = 20. mm dia. Bars 8 nos :
.Lateral ties = 8 mm dra@ 300 mm/c/c (Doub e Ties) ; :
. Footing Detarls L o i SR T R
" Size offootmg 3. 5m X 3. 5m e ‘ ' '
oo Thxckness of footrng at ﬁee end = 30 cm ;
.. Thickness of footing at free column face =70 cm
- Base remforcement = 12 mm d1a @ 200 mm c/c’ bothways ‘
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Part - C ' | [Malks 12 each,

- Q8  Estimate the cost of eaxthwmk for a portion of road for 400m length ﬁom He iollowmg
“data:

F ormatmn width of road is 10m. Side slopes are 2:1 in banking and 1. 5 lin cuttmg

| Stapon Distance (m) R.L. of ground (m) |. R,iL. of fQI mation 1
25 1000 5100 | 52.00

26 1040 j 50.90 S |

27 1080 5050 |

28 i 1120 5080 | I .
2;9 v ; 1160 : ©50.60 ‘Downwald gmdlcnf
S 30 1200 50.70 | of 1in 200
b T 1240 5120 ! |
B 32 1280 51.40 i
.33 1320 - 5130 l
34 1360 | 5100 - | I
T35 1400 5060 P ﬂ

; = OR ,
|
:‘ Prepaxe a detalled estimate of'a RCC roof slab 'of 3m x 6m cleal spans from ﬂle drawmg,s
glvcn bg,low Also prepare a schedule of bars. : ,
' P -
£ C.C. ROOF SLAB ;. L pi0em
3m ClearSpan | pALBar Bentup | (I‘ZC" :
f T {2men Dia Main Bars 120m oic
. Dist
i
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.. Q9 Discuss: dlffucnt kmds of arbitration accordmg to A1b1t1 ation Act Wh
DI advantdges of arbm atlons over a court decision? ‘
Wri 1te in detall about the acts pertaining to minimum wages and wor kman’s compensation
and easememughts L
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